W91 Many Measures

Two rolls of tape are 35cm and 41cm long.
What is their total length?
What is the difference in their lengths?

. An egg weighs about 50g.
Roughly how much do 6 eggs weigh?

. A big potato weighs about 1/4kg.
About how much would 10
potatoes weigh altogether?

. A bottle of medicine holds 35ml altogether.
A teaspoon holds 5ml.
How many teaspoons of medicine are there
in the bottle?

ﬂ)bjectives
. Choose and use appropriate number operations and appropriate ways of
calculating to solve problems
. Use all four operations to solve word problems involving numbers in ‘real
life’
. Check that the answer meets all of the criteria
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